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Vermenigvuldigen: de tafel van 10

1. Reken de volgende voorbeelden uit:

1x10 =10 2x10=_20
3x10=_30 4x10= 40

5x10- 50

8 x10 =_80

= 100

2. Welke cijfers ontbreken?
~8x10= 80 1x10= 10 0Ox10= 0 6x10= 60
~B5x10= 50 7x10=70 " 9x10= 90 10 x 10 = 100
~3x10= 30 2x10= 20 4x10= 40 Hbx10= 50
3. Los de sommen op:
50 =10 x5 30=10 x 3 100=10 x1 0=10 x0O
70 =10 x7 90 =10 x 9 40 =10 x 4 80 =10 x 8
20=10 x 2 10=10 x 1 60 =10 x6 50 =10 x5
4. Nog één keer om te controleren:

3x10=_30 2x10=_20 O0x10=_0 10 x 10 = 100

1x10=_10 7x10=_70 9x10=_90 6 x 10 =_60

8 x10 = 80 4 x10 = 40 5x 10 = 50 7x10=_70
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